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Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Identify the word or phrase from the passage that implies “continuous or recurring conduct of business”

international court

army or navy in the civilized world

perpetual session

carry its judgement into effect

None of the above
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Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of

war. Think of sending shot and shell crashing through the bodies of men!

Find a phrase that means “sending shot and shell crashing through bodies of men!”

firing bullets and lobbing grenades

shooting arrows in the dark

firing bullets and shooting water hoses

bombing unarmed men

None of the above
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Correct Answer

Marks

Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of

war. Think of sending shot and shell crashing through the bodies of men!

Which of the following is implied by “its” in the statement “the military force is expected to carry the its judgement
into effect”

the government of the day

the civilized world

Christendom

the international court

None of the above
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A
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Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

“The passage implies that the only task or function for the forces in a civilized world should be only

to impeach the governments that defy the international courts

to ensure that the court is in perpetual session

to effectively implement the decisions of the international court

to make sure that the rest of Christendom is disarmed

None of the above
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Correct Answer
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Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of

war. Think of sending shot and shell crashing through the bodies of men!

“No man has imagination enough to paint the agonies, the horrors, and cruelties of war.” This sentence can be correctly
re-written as

Every man lacks adequate imagination not to paint the agonies, the horrors, and cruelties of war.

All men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

Some men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

All men do not lack the imagination enough to paint the agonies, the horrors, and cruelties of war.

None of the above



%6 Question Description Which state won the Nagesh Trophy in the Men’s National T20 Cricket Tournament for the Blind 2023-24?

A Andhra Pradesh
B Maharashtra
c Karnataka
D Tamil Nadu
E None of the above
Correct Answer C
Marks 1

57 Question Description Who broke the world record for the most time spent in space?
A Gennady Padalka
B Oleg Kononenko
c Nikolai Rukavishnikov
D Vladimir Shatalov
E None of the above
Correct Answer B

Marks 1



8 Question Description Who revealed the book titled "Artificial Intelligence and National Security" at Pune's Defence Literature Festival?

A General Anil Chauhan
B General Vivek Ram Chaudhari
c General Manoj Pande
D General R Hari Kumar
E None of the above
Correct Answer A
Marks 1
%9 Question Description Which Indian state has launched the Digital Detox Initiative for a responsible gaming environment?
A Maharashtra
B Tamil Nadu
c Karnataka
D Kerala
E None of the above
Correct Answer Cc

Marks 1



®0  Question Description Who is eligible for free access to the Pertuzumab-Trastuzumab drug combination in Goa?

A Senior citizens
B Children with disabilities
c Pregnant women
D Cancer patients
E None of the above
Correct Answer D
Marks 1

67" Question Description In which state did the Chief Minister inaugurate the 4th National Chilika Birds Festival?
A Uttar Pradesh
B Karnataka
c Tamil Nadu
D Odisha
E None of the above
Correct Answer D

Marks 1



62 Question Description When is World Wetlands Day celebrated globally?

A February 2
B January 15
c March 5
D April 12
E None of the above
Correct Answer A
Marks 1
63 Question Description Where is the Surajkund Mela 2024 taking place?
A Faridabad
B Jaipur
c Secunderabad
D Ahmedabad
E None of the above
Correct Answer A

Marks 1



©4  Question Description On which date is National Black HIV/AIDS Awareness Day observed annually?

A February 1
B February 7
c February 14
D February 21
E None of the above
Correct Answer B
Marks 1

®5 Question Description What is the Uttar Pradesh government promoting through the 'EV Upyog' Portal?
A Agriculture
B Tourism
c Healthcare
D Electric Vehicles
E None of the above
Correct Answer D

Marks 1



®6 Question Description Two trains are moving in the opposite direction and their speeds are in the ratio of 2: 1. If the first train crosses a

standing man in 5 sec and another train crosses the same man in 8 sec, then determine the time taken by trains to cross

cach other.
A 6 sec
B 3 sec
c 5 sec
D 9 sec
E None of the above
Correct Answer A

Marks 1



67" Question Description Study the following questions carefully and choose the right answer:

Statement: Due to substantial reduction in fares by different airline services, large number of passengers so far

travelling by upper classes in trains have switched over to airline services.
Courses of action:
I. The railways should immediately reduce the fare structure of the upper classes substantially to retain its passengers.

II. The railways should reduce the capacity of upper classes in all the trains to avoid loss.

A Only I follows

B Only II follows

c Either I or II follows
D Both I and II follow
E None of the above
Correct Answer A

Marks 1



68 Question Description

Directions: A mirror is placed on the line MN, and then which of the Answer Figures is the right
image of the given Question Figure

M
VA %
N
A ¥}
AN p ﬁ\\ﬂ AN AN
A A
B B
c C
D D
E None of the above
Correct Answer D
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69 Question Description

Correct Answer

Marks

Rani, Supriya and Amita work on a project. If each of them is of a different efficiency. Who is the fastest worker
among them?

Statement I : Rani and Supriya take 5 days to complete the project while Supriya and Amita take 10 days to complete
the same project.

Statement II : Rani and Amita take 30/7 days to complete the project.

If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is not sufficient

to answer the question

If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is not sufficient

to answer the question

If the data either in statement I alone or in statement II alone is sufficient to answer the question

If the data in both statements I and II together are necessary to answer the question

None of the above



70" Question Description Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku.
Vicky has two daughters and one son. Unni has only one son and one daughter. Micky is the only sibling of Wiku.
Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter of Akku, who is
married to Wiku. Unni and Vicky are sons in law of Wiku.

How is Wiku related to Donu?

A Father

B Mother

c Grandfather

D Can't be determined
E None of the above
Correct Answer D

Marks 1



1 Question Description The age of Sitamma 10 years ago was thrice the age of Radha. 10 years hence, Sitamma’s age will be twice that of

Radha. What is the ratio of their present age?

A 7:3

B 3:1

c 2:1

D 1:4

E None of the above
Correct Answer A

Marks 1



72 Question Description Study the following numbers carefully and answer the questions given below:

5836 7469 8251 6293 4172
If the digits of all the numbers are to be arranged in ascending order within the number from right to left then
the numbers thus formed are to be arranged in descending order from left to right then what would be the sum

of second digit of third number from left end and third digit of fourth number from right end?

A 12

B 10

c 7

D 9

E None of the above
Correct Answer D

Marks 1



73 Question Description Study the following questions carefully and choose the right answer:

Statement : Postal rates have been increased to meet the deficit.
Assumptions :

I. The present rates are very low.

II. If the rates are not increased, the deficit cannot be met.

A if only assumption I is implicit
B if only assumption II is implicit
c if either I or IT is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer B

Marks 1



74 Question Description Statement : A part from the entertainment value of television, its educational value cannot be ignored.

Assumptions :
I. People take television to be a means of entertainment only.

II. The educational value of television in not realised properly.

A if only assumption I is implicit
B if only assumption II is implicit
c if either I or IT is implicit

D if both I and II are implicit

E None of the above

Correct Answer E

Marks 1



75 Question Description Study the following questions carefully and choose the right answer:
Statement: It is necessary to adopt suitable measures to prevent repetition of bad debts by learning from the past

experiences of mounting non-performing assets of banks.

Courses of action:

I. Before granting loan to customers their eligibility for loan should be evaluated strictly.

II. To ensure the payment of instalments of loan, the work, for which loan was granted, should be supervised minutely

on regular basis.

A Only I follows

B Only II follows

c Either I or II follows
D Both I and II follow
E None of the above
Correct Answer D

Marks 1



